2B —T IR 7B Tt DHY ST 5T =S

EH4 I)7REHER (SITRE)

A ERTE R HERS DUt SERAR
BIEFRERBER

— Dotk (25 AU RES0)
B A A ERMAE[B 4 V/m]
50%fE | 70%fE | 80%{E | 90%E | 95%fE | H/IME | ZRKIE

1 TITERtEA— 34 51.9 49.8 48.6 46.5 44.7 40.7 59.3
2 TEi 34 45.6 443 431 418 41.2 37.7 52.7
3 T hEEgs 34 53.7 52.1 50.4 48.8 475 44.7 64.3
4 REE 34 55.3 52.3 50.3 47.3 451 40.3 62.8
5 BAER 34 53.5 52.2 51.1 48.9 46.9 42.9 58.4
6 | HERMBE2EE 34 41.0 40.3 39.7 39.0 38.2 36.1 457
7| HERBE1SEE 34 46.1 441 42.8 411 39.9 36.4 56.4
8| HEMEERSR 34 44 .4 42.6 41.4 39.6 39.0 35.7 56.7
9| KREEODEHE 34 48.3 45.6 438 425 40.8 37.6 59.0
10| ERAEMLEG 34 45.6 445 43.8 431 425 39.8 50.8
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BER4 IYT7RERER (BITRIE)
HERTE R HERS T ot EREAR
mEFES1 FITHREVS—
B =
AEt MABE2 Taik
BIE &5 34ch
(DBIEHER
1HE hEFS1 haES2
50%{E 51.9 456
S 70%{E 498 443
(1 ARES0)|  80%E 48.6 43.1
EREE 90%{iE 46.5 418
[dB u V/m] 95% (& 447 412
=/ME 40.7 37.7
=AE 59.3 52.7
BI7E XME [m] 34 39
T—A2% [{&] 383 490
(2)ERNTS L
(HRBES1) (HRFES2)
% (1) % (1)

45

40
35
30
25

35 40 45 50 55

60 65

30

35 40 45 50 55 60

BFRAE[B 1 V/m] BRRAEB 1 V/m]
(3)R#EI77
(MRES1) (MRES2)
RHE R (%)
100 % 100
90 90
80 80
70 - 70 -
60 60
50 50
40 F 40 F
30 - 30 -
20 20
10 - 10 -
0 0
35 40 _45 50 55 65 30 35 40 45 50 55 60
BRAE[IB ¢ V/m] EBRBE[IB 1 V/m]
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X4 TIT7HRERR (STRE)

RgEn | BB JotUERAR

RES3 FRFER

BITE Hh S
= MEEE4 R
BIE &8 34ch
(DBIEHER
1HE hEES3 hRES4
50%{E 53.7 55.3
NN %fiE . .
Y e 70%{E 52.1 52.3
(1 A RES0)|  80%(E 50.4 50.3
EREE 90%fi& 488 473
[dB i V./m] 95%{i& 475 451
=/ME 44.7 40.3
=AE 64.3 62.8
BI7E XFE [m] 39 41
T—A3% [{&] 495 455
(2)ERNTS L
(HRFESI) (HRBES4)
% (1) % (1)

70

60

50

40

30

20

40 45 50 55 60 65 70 40 45 50 55 60 65 70
BRI 1 V/m] BRMELB 4 V/m]
(3)R#EI77
(R FEE3) (MR EE4)
REE R (%)
100 (% 100
90
80 80
70
60 - 60
50
40 40
30
20 F 20
10
0 0
40 45 50 55 60 65 70 40 45 50 55 60 65 70
EREE[B 1 V/m] ERME[B 1 V/m]
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B4 I)7HREHER(SITRE)
SHERFE A HER3 oS ERAR
—_ i’rb;.ﬁ“%v:qt; Eﬁ:‘:ﬁ#ﬁ _
hRES6 HERBE25E
BIE & 34ch
(RERHR
IHH HheESS hRES6
50%{iE 53.5 410
S 70%fiE 52.2 40.3
(1T ARES0)|  80%(E 51.1 39.7
BRAEE 90%{E 48.9 39.0
[dB uV/m] 95%{iE 46.9 38.2
&x/ME 42.9 36.1
=K{E 58.4 45.7
HIE XA [m] 52 47
T—45% [{E] 500 383
(2)ERRNTS L
(b FESS) (b FES6)
EH(E) LEAE)

90
80
70
60
50
40
30
20
10

0

(3)

100
90
80
70
60
50
40
30
20
10

0

35 40 45 50 55 60 65
EREEB L V/m]
REIS7
(hm&EES)
R
(%)

35 40 45 50 55 60 65
BHRIEEB 1 V/m]
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90
80 -
70 -
60 -
50 -
40 |
30 -
20
10

0

30 35 40 45 50 55
BRME[IB 1 V/m]

(thR&ES6)
RIEE (%)

60

100
90 r
80 r
70
60 r
50
40 -
30 r
20 r
10 r

0

30 35 40 45 50 55
BHRIAEB 1 V/m]

60
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X4 TIT7HRERR (STRE)

RgEn | BB JotUERAR

RES7 HERMKE1SE

BITEHh S ——
= MEESS RHERDA
BIE E 5 34ch
(DBIEHER
1HE hEaES7 hRESS
50%{E 46.1 44 .4
g %{iE . )
T e 70%{E 441 426
(1 A RES0)|  80%(E 42.8 414
EREE 90%fi& 41.1 39.6
[dB u V/m] 95%{i& 39.9 39.0
=/ME 36.4 35.7
=AE 56.4 56.7
BIE XA [m] 41 35
T—5% [fE] 302 290
(2)ERNTS L
(HRBES7) (R FESS8)
% (f8) 3 (1)

30

25

20

30 35 40 45 50 55 60 30 35 40 45 50 55 60
ERBE[B 1 V/m] TREE[B 1 V/m]
(3)RE\/I37
(HRBES7) (R FESS8)
RIEE BRI (%)
100 ‘% 100
9
80 80 r
70
60 60
50
40 t 40 t
30
20 20
10
0 0
30 35 40 45 50 55 60 30 35 40 45 50 55 60
BEREE[B 1 V/m] ERME[B 1 V/m]
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30

25

35 40 45 50 55 60 65
EREE[B 1 V/m]

(3)RIEI 57

(th R ES9)
R
100 (%
9 |
80 |
70 F
60 |
50 |
40 |
30 |
20 |
10 |
0

35 40 45 50 55 60 65
BHRIEEB 1 V/m]
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B4 I)7HREHER(SITRE)
SERTERI HER3 oS ERAR
— haBES9 KAEOEHE
B E Hh = = -
HRBFES10 BRAKEMELS
HIE &4 34ch
(RERHR
5B hRESO meFES10
50%{E 483 456
T 70%{E 456 445
(LA REE0) | 80%E 438 438
BRAEE 90%{iE 425 43.1
[dB uV/m] 95%{iE 408 425
&x/IME 37.6 39.8
=K{E 59.0 50.8
BIE X R [m] 36 33
T—3E [{&E] 321 295
(2)ERRNTS L
(R ES9) (mES10)
%K (f8)

30 35 40 45 50
BHRIAREB 1 V/m]

(hm&ES10)

RIEE (%)
100

55

60

90 r
80 r
70
60 r
50
40 -
30 r
20 r
10 r

0

30 35 40 45 50
BHRIEEB 1 V/m]

55

60




